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Section - 1

English
01. Fill in the blank by using comparative form of the verb.
My car is quite slow and I want to get a (fast) one.
(1) faster (2) fastest
(3) more fast (4) most fast
02. Choose two correct modal auxiliaries showing possibility in the following
sentence.
Rohan write in his notebook.
(1) could (2) must
(3) can (4) should

03. Look at the following slogan and choose the correct option for the given
question.
‘Each one-teach one’
This slogan is used for .
(1) Literacy awareness programme (2) Green revolution programme
(3) Health awareness programme (4) Addiction awareness programme

04. Read the following sentence and choose the correct alternative.

The door by the teacher.
(1) 1is being shutting (2) were being shut
(3) are being shut (4) 1is being shut
05. Complete the web of adjective for the word given. Choose any one correct
option.
Clear
t
? Sun golden
v
Orange
(1) bright (2) dim
(3) black (4) dull

SPACE FOR ROUGH WORK
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Instruction for Q. 06 and Q. 07 -

06.

07.

08.

09.

10.

Read the news and choose the correct option.

E Seminar on Diabetes :]

On 29" September, on the occasion of World Heart Day, New Vision
School, Mumbai organized an interactive seminar for the parents of New Vision
School. Dr. Sanjay Gupta, the Senior diabetologist was the main speaker for it.
Approximately 152 parents attended the seminar. This seminar was organized
by Doctors' Medical Association along with school.

Choose any one correct option for the given question.
The seminar was organized for .
(1) all (2) teachers

(3) students (4) parents
What kind of seminar was organized by the school?
(1) recorded (2) wvocal

(3) interactive (4) written

Choose the correct option from the following which shows the pronouns.
Sun Wakang is brave and intelligent. But he is also a trickster. His body is
as hard as diamond.

(1) also, and (2) as, 1s

(3) he, his (4) brave, intelligent

Choose the correct option to identify the tense of the underlined words.
The train has started before I reached the station.

(1) past perfect (2) present perfect
(3) present continuous (4) simple past
Choose the correct alternative from the following clalel 211
to complete the puzzle for the meaningful words. -

? A
(1) a (2) o N M
(3) e 4 i ?

SPACE FOR ROUGH WORK
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Instruction for question no. 11 and 12.
Read the passage and choose the correct alternative.

When they arrived at the seaside, out jumped all the children with a
shout of joy. Down to the sands they raced, hand in hand - but Nobody took
Hari's hand. Nobody went near him.

Hari was angry. He went to a sandy corner near a rocky pool and sat
down by himself. He took out his lunch and looked at it. It was a good lunch.
There were two hard-boiled eggs, six jam sandwiches, three pieces of bread and
butter, a ginger cake, and a bar of chocolate. He would eat it all by himself.
He wouldn't offer anything to anyone!

11.  Complete the web by choosing 2 correct options.

Cake
i
? Hari’s Lunch eggs

v

?
(1) bread and butter (2) juice
(3) biscuits (4) bar of chocolate

12. How was the pool?

(1) sandy (2) narrow
(3) deep (4) rocky

13.  Choose the correct option for the underlined part of the following.

Charuta wants to decorate her bungalow. For that purpose, she visited a person
who is master in beautifies the inside of a house.

(1) building contractor (2) merchant
(3) sailor (4) interior decorator

14. Read the sentence and recognize its type by choosing the correct option.
Bind up the wound with a bandage.
(1) Exclamatory Sentence (2) Imperative Sentence
(3) Interrogative Sentence (4) Assertive Sentence

SPACE FOR ROUGH WORK
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15.  Fill in the blank by choosing the correct option for the correct conjunction.

He worked hard to sell the wood in the morning grains in the evening.
(1) Dbecause (2) so
(3) and (4) since
16. Choose the correct alternative
to complete the following set <D PIT H]L|PTS
of words. AT S|| C| A|] T]|Q
(1) decoration P| HNWHKNR | T| O] S
(2) relatives LIMITEINANE | P I
3) " B| AJ||E|]|] C NL[NY | Z
crackers
s |1 ||| k||AN] G
4 loth
() cloths A| B |[S]|| E |[M|| H| V
Al O|C|R|P]|W|P
S| T| M| S| Q| N|P

17.  Select one correct option for the underlined word to make it opposite of it.

If you do not wake up early in the morning, you are for school.
(1) late (2) early
(3) pertfect (4) in

18.  Choose the correct alternative that shows the correct meaning of the underlined
words.

They received the president of the college with open arms.

(1) with someone's presence (2) with excellent work

(3) with fear (4) with warm welcome

SPACE FOR ROUGH WORK
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Instruction for Q. 19, Q. 20 and Q. 21 -

Read the passage and choose the correct alternative.

Many years ago, at the foothills of the kaatskill (kat-skill) mountains,
was a little village. In the village lived a simple, good-natured fellow named
Rip Van Winkle. He was a kind neighbour, ready to help anyone. Everyone in
the village liked him. The children of the village shouted with joy whenever
they saw him because he played with them, he taught them to fly kites and
shoot marbles and told them long stories.

The only problem with Rip was that he was very lazy. He did no work
on his own farm and just idled away his time. His fences were falling to pieces.
His cow was going astray. Weeds grew on his farm. Rip's constant companion
was his dog, named Wolf. To avoid work, he would walk away into the forest

with his dog.

19. What did Rip Van Winkle teach to the children? (Choose any 2 answers)

(1) to write poems
(3) to tell stories

20. Who was wolf ?
(1) boy
(3) dog

21. Match the pairs.

A
1) fences a)
2) cow b)
3) weeds c)
4)  kaatskill d)

(1) 1-b; 2-a; 3-d; 4-c
(3) 1-d; 2-a; 3-b; 4-c

(2) to fly kites
(4) to shoot marbles

(2) wolf
(4) wvillager

B
going astray
falling to pieces
mountains

grow on farms

(2) 1-c; 2-d; 3-a; 4-b
(4) 1-a; 2-b; 3-c; 4-d

SPACE FOR ROUGH WORK
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22,

23.

24.

25.

Read the following pairs of homophones and find out a pair which is not a
homophone. Choose any one correct option.

(1) Steel - still (2) though - thought

(3) main - mane (4) right - write

Observe the following website and choose the correct option for the given
question.

WEWTZ WEA  Government of Maharashtra SKIP TO MAIN CONTENT Q & (\ ENGLISH

iR
. NASHIK DISTRICT a et

HOME ABOUT DISTRICT v CORONA VIRUS-COVID19 DIRECTORY Y  DEPARTMENT v TOURISM v DOCUMENTS v/ NOTICES v === MORE

HOME / DIRECTORY / PUBLIC UTILITIES / UNIVERSITIES / Maharashtra University of Health Science (MUHS) 9 <7 ’ =2

Maharashtra University of Health Science (MUHS)

Maharashtra Health Science University, Mhasrul, Vani Dindori Road, Nashik-422004.

Email: registrar{atimuhs[dot]ac[dot]in
Phone: +2532539100

Website : https://muhs.ac.in/
Category/Type : University

What is the above website about?
(1) Social Science (2) Mathematical Science
(3) Environmental Science (4) Health Science

Choose the correct option for the indirect speech.
The mouse shouted,"Let me go".

(1) The mouse shouted that to let him go.

(2) The mouse shouted to let him go.

(3) I shouted to let mouse go.

(4) The mouse shouted that let me go.

Find the meaningful word from the following jumbled letters.
EATRTHE

(1) EARTHE (2) THROWING
(3) THIEF (4) THEATRE

SPACE FOR ROUGH WORK
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SECTION - II
INTELLIGENCE TEST

Directions Q. 26 to 28.

Identify the rhythmic arrangement of terms given below and find the correct term
in place of the question mark.

26 [ANHENRIRIATNEANRIAN
0 AN @ BN
3¢ M-Hy O=l=
27 mnnsem?senmsen?m?nns
(1) nen 2) nme
(3) nne (4) esn
28 5217241745724221721745
(1) 725 2 275
(B) 572 4 752
29.  Health is wealth means  [Choose two correct options from the following.]
(1) Good health is the real wealth.
(2) Good health is equally important as wealth.
(3) Health and wealth are dependent on each other.
(4) Good health is enjoyed only by rich people.
SPACE FOR ROUGH WORK
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SECTION - II

b
Lt

D ecod L 28 126 £l

£ L EISE SIS s S Sl Saae R Sl s st s
) VG:'U;Q?g%;fL!,LT

ANTHEHN2IIALBEHANRIANLL 26
HNL @) AN (1)
HHE @ =ZNE)
mnnsem?senmsen?m?nns 27,
nme (2) nen (1)
esn (4) nne (3)
521741745 7?247°221721745 28.
275 (2) 725 (1)
752 (4) 572 (3)
e UL 9Ly, J}C;!;/J}&“"ut?ﬂ,ﬂu;(w/@ﬁc; UY/;JJ/UZ/@.'{_VYJUQ{, d/dgj;” 29.
(-;/h,e?"k{d)péj;) _iggwggj;vaﬂ»uﬁéiut
Jus® (1)
CF @
e JFULE s (3)
L JFUL RS (4)
Ll Lo
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30.

31.

32.

33.

34.

The ratio of the present ages of Aashish and Aditya is 4:7. Eight years hence, the
ratio of their ages will be 2:3. Find Aditya's age five years ago.

(1) 28 years (2) 19 years
(3) 23 years (4) 11 years

Ishan told Aradhya “You are the daughter of my mother's sister-in-law.” How 1is
Aradhya related to Ishan's father?

(1) daughter (2) cousin

(3) niece (4) maternal aunt

In the following number series find the odd term.
2, 3,6, 10, 18, 27, 54, 81, 162

(1) 54 2) 10
(3) 162 4) 242

Ninad walked 5m. East. Then he walked 2.25m. North. Then he turned to his right,
in right angle and walked 5m. Now what will be the minimum distance from the
original position?

(1) 1025 m 2) 10.50 m
(3) 925 m 4) 12.50 m

Choose the correct alternative to complete the question figure.

Question Figure: Answer Figures:
-
N / - ] ]
(1) 2) €) (4)

SPACE FOR ROUGH WORK
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SUbL L1760 2 3 o EKU A Sl 8 —e 4 T EKUAS TS LT 30
sSUF
Ju 19 (2) JL 28 (1)
Ju 11 4 Ju23 (3)
S e I 2T D SIS 2 F e 2P 3L
&) £ (1)
§Z @ Gl (3)
Sl s 3.
2,3, 6, 10, 18, 27, 54, 81, 162
10 (2) 54 (1)
242 (4) 162 (3)
o e U T 2 225 b SUEunmt LU Vinle 2 5 SLSGSE 3.
WL Aol e eIV 2 5 St b 76
A10.50 (2) A010.25 (1)
212,50 (4) 925 (3)
SRSl LTI IS s 34,
A Wil
N
N -/ - ] N
(1) (2) 3) 4
Ll Lo
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35. In a Zoo, no animal is having any physical disability. Total number of legs of

deers and ducks together is 52 and the total number of heads taken together is
19. Find the number of ducks in the Zoo.

1y 7 Q) 14
3) 10 @) 12

Directions Q. 36 and 37.

The number of players playing different games in a school are given in the following
Venn diagram. Observe the figure and choose the correct alternative to answer the
questions that follow.

8
/ 5 ) Chess Players
Cricket Players —s 5/ 4
3
/ 10 <— Hockey Players

36. How many players play indoor games?
(1) 8 2) 19
3) 18 4 13

37. By What percentage the number of players playing only chess is more than the
number of players playing all the three games.

(1) 60% 2)  40%
3)  75% 4)  160%

SPACE FOR ROUGH WORK
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Susnl 52 ;w?Juwvéu%ﬂuﬁ-‘auﬁiw@/@wwm5“?%(%1/&2 L
?‘L&fg'ﬁufuﬁuﬁ/fk'z;f 9. 19 5w

14 (2) 7 (1)

12 (4) 10 (3)

3s.

L el L 37 1 36 £

DBtz e 2 s Sopirb 1o F S Sy S S Lt L b s

_;/_.al's:"c.gﬂ
e ; LR
5 2
ng&(/ﬁ > 4
3
/ < L‘}gJL
10 e
S ESIWEL & r 36,
19 (2) 8 (1)
13 (4) 18 (3)
Sl it L Uy WD BB S IS UME L s 3.
40 % (2) 60 % (1)
160 % (4) 75 % (3)
Ll Lo
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Directions Q. 38 and 39.

Identify the water reflection of the question figure from the given alternatives.

38.  Question Figure: Answer Figures:
39.  Question Figure: Answer Figures:

(ﬁ@@@@

Directions Q. 40 to 44.

In each of the following questions relation between the third and the fourth term
is the same as that between the first and the second term. Find the term to replace
the question mark.

40. 23 : 49 : : 41 : ? (Select two correct alternatives)

(1) 16l (2) 125

3) 85 4 92
41. Gold : Au : : Silver : ?

(1) Ag (2) Al

(3) Fe 4) Cu

SPACE FOR ROUGH WORK

0222-Urdu Set-A 14 of 32 Contd...



ABCDE|F GHTIJ KLMNO|PQRS ST | UVWXY

D eclvd L 39 1 38,4
S Bl g € TEL A IS

A il 38,
(1) 2 3) (4)
A Wil 39,
o (s
(1) (2) 3) (4)
Lecd L 44 b 40 Al

Sl 6 s S AFRUAGIe Fa e il AL
iy ,@‘MJ@@ZULQ&LU&JV/L

(_,/,,@"Kd;pé;) 23:49 :: 41:2 40,
125 (2) 161 (1)
92 (4) 85 (3)

(v : Au :: d,clg:? 41.

Al (2) Ag (1)
Cu (4) Fe (3)
Ll Lo
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42.  Mango : Fruit : : Ginger : ?

(1) Leaf (2) Root

(3) Stem (4) Vegetable
43.

O (ONG)
BB AR [l @&l
o0 y o0 -, o0 y Q o0
o A o | o A N
() (2) €) (4)
44. DH : N :: BF : ? (Choose two correct alternatives)
() I 2) R
G W 4 ]

Directions Q. 45 and 46.

In a certain code language the word HAD is written as 532, SHE is written as
145 and DIE is written as 391.

45. How will you write the word HIS in the same code language?

(1) 354
(3) 594

2) 294
4) 539

46.  Which of the following word will be formed by the code 4293?
(1) DEAD (2) HEAD
(3) PAID (4) SAID

SPACE FOR ROUGH WORK
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u?l}:a//::u%:? 42.
Lk (2) s (1)
= (4) 124 (3)
43.
VAN
. A
* * **y ’ °
* 00
O
:1% @% @O%
o0 -, coy ro
° | o A Al ®
() 3) (4)
(_,/_,L?‘!mgéj;) DH:N :: BF:? 44.
R (2) L (1)
J (4 W (3)

tecd L 46 1 454

T bbbl 7689 SB, 7 3524 5, S < 6548 kil SE i
(et e VSt i gt JE S
L e urin e I 3 S e 45

2697 (2) 9627 (1)
4216 (4) 7269 (3)
S LB e st QLI 4296 46.
JE ) Je ()
JE @ SINE
Ll Lo
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47. In a certain code language COT is written as ELV, SUN is written as URP. How
will you write the word PIG in the same code language?

(1) RFI (2) RHI
(3) RGI (4) QJH

48.  Identify the correct mirror image of the question figure from the alternatives given.

Question Figure: Answer Figures:

(1) 2) €) (4)

49.  The paper as shown in the question figure is folded and shaded region is cut as
shown in the question figure. How will the figure look like when the paper is
unfolded. Choose the correct option.

Question Figure: Answer Figures:

(D) () ©) (4)

S50. In a certain year, Environment Day falls on Friday. Then on which day Children’s
Day will fall in the same year?

(1) Monday (2) Sunday
(3) Thursday (4) Saturday

SPACE FOR ROUGH WORK
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2 LWL A, PIG Iz URP Y SUN otz ELV Y COT fuliduiEigl  47.
4
RHI (2) RFI (1)
QJH (4) RGI (3)
el SEUAETH G 4.
A Wil
(1) (2) (3) 4)
LTEUAS IS LB e ok 2o e IS GG A VE IS i 49,
_“éjl}?cd)l} ‘J
A Wl
(1) (2) (3) 4)
?Knu;uﬂwgde?nwi,az.;ymgdu 50.
A9 (2) 2 (1)
@ =1 (3)
Ll Lo
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51.

52.

In the following number series, how many times two prime numbers follow each

other consequently?

3574263794253249756209

(D)
€)

8
7

2)
(4)

6
5

In the given alphabet series to get the word opposite in meaning of the word
‘beautiful’, which will be the correct order of numbers?

(1) 21, 10, 25, 12

€)

21, 7, 12, 25

Directions Q. 53 to 57.

53.

54.

35.

S56.

Find the odd term.

(D)
€)

(1)
()

(D)
)

(1)
€)

talented

intelligent

Potato

Elephant foot

289
221

SUW
MQS

2)
(4)

)
(4)

2)
(4)

2)
(4)

2)
(4)

21, 7, 11, 25
12, 21, 8, 25

dull
bright

Ginger

Sweet Potato

143
187

BCE
EGK

SPACE FOR ROUGH WORK

0222-Urdu Set-A

20 of 32

Contd...




ABCDE|F G HTIIJ

KLMNO

UV WXY

PQRST

6
5

?‘LLT,}‘/(}:{-w)’ﬁ’}/by;)})u:gd)ﬁid)’ 51.
Ak :357426379425324975629

(2)
4)

8 (1)
7 (3)

Jur e L Gl & oo Uk 6 s

KL TEIL I A s

< @ (1)

S ANC) SN E)
tecd L 576 534

-i%;’/dngLn;Jlﬁufuj
¥ (2) =35 (1) 53,

A @ A e
4 (2) JT () 54

Sz (4) Z8 (3)
143 (2) 289 (1) 5.

187 (4) 221 (3)
BCE (2) SUW (1) 56.

EGK (4) MQS (3)

Ll Lo
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57.

58.

59.

(1) (2) (3) 4)

Find out the rule underlying the arrangement of numbers in the following question
and choose the correct alternative that will replace the question mark.

/IN DN /N

(1) 4 2 1
G3) 3 “4) 2

Observe the numbers given in the following square and choose the correct alternative
to replace the question mark. [Choose two correct alternatives]

35128 13

171 2 |52

62 | 43 | 22
(1 73 (2) 85
(3) 8 4) 10

SPACE FOR ROUGH WORK
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) 2) 3) )

‘e Lubutibdl T rel gB Ut s 58,

(2 4 (1)
2 4 303

(_,/_,L?‘lw,g&éj;) L usslele by el SNt LS5 59,

57.

35 (28| 13
17 2 |52
62 | 43 | 22
85 (2) 73 (1)
10 (4) 8 (3)
Ll Lo
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60.

Find the hidden part of the question figure from the alternatives given.

Question Figure:

Answer Figures:

BN

(1

Directions : Q. 61 to 65.

61.

62.

63.

64.

(2)

) (4)

In the following series determine the rule underlying the series and find out the

term in place of the question

6, 6,9, 18, 45, 2
(1) 90
(3) 125

3, 8, 15, 26, 43, 68, 103, ?
(1) 150
(3) 206

mark.

2)
(4)

2)
(4)

OxAO+ xOAO+ xAOOH+, 2

() XAO+[O
3) O+xAO

YX, WU, TQ, PL, ?
(1) KE
(3) JE

2)
(4)

)
(4)

145
135

120
152

X AOO+
AXOO+

LE
KF

SPACE FOR ROUGH WORK
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-,/.j‘c;d;uffpgguﬁf,gtr 60.
:f,“hy :wgdb?
(1) (2) 3) 4)
D e L 65 b 61,4l
_,/_,L‘E‘W;y?éif.édeuéJ/?(u»Luwuyu:&i@‘
6,6,9, 18,45, 7  6l.
145 (2) 90 (1)
135 (4) 125 (3)
3,8, 15, 26, 43, 68, 103, 2 62.
120 (2) 150 (1)
152 (4) 206 (3)
OxAO+, xOAO+, xAOO+, 2 63.
X AOO+ (2) xAO+0O (1)
AxXxOO+ D) O4+xAO (3)
YX, WU, TQ, PL, 2 64.
LE (2) KE (1)
KF (4) JE (3)
Ll Lo
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66.

danyan
NN

CTA (o)

B
NI

(1) (2) (3) 4)

In a queue Vihan is at 23" position from left and Sonal is at 15™ position from
right. There are four boys between them. Find total number of children in the
queue. [Choose two correct alternatives.]

(1) 41
3) 32

2) 31
4) 42

Directions: Q. 67 and 68.

67.

Choose the correct figure from the alternatives given that exactly matches with the
question figure.

Question Figure:

-

Answer Figures:

15| (RE)|(E5))| (S5

(1) (2) (3) 4)

SPACE FOR ROUGH WORK
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(1)

<”\%A

*/

2)

AWOA
|/

(4)

unéﬂ/?wyﬂéui»_%/uu 15 b./'lgu:/bi,f‘jb/)iub 23 u’b%’/ltizf./u:J%bg
(_,/_,t’?w;@é;) st LI f NS

31 (2)

42 4)

techd L 68 1 674

41 (1)
32 (3)

S T e gE L 5

65.

66.

WAL Wil 67.
(1) 2) €) (4)
Ll Lo
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68.

69.

70.

Question Figure: Answer Figures:

1
(D 2) ©) (4)

At which position from right, will be the letter, which is at equal distance from
the letters I and U; in the given alphabet series.

(1) 11t Position (2) 12t Position
(3) 10™ Position (4) 8t Position
In the given alphabet series first and third groups are interchanged, similarly fifth
and second groups are interchanged and a new Alphabet series is formed. Then

which letter will be at the middle position between the letters Q and M in the
new Alphabet series?

(1) O 2) A
3 X 4 Y

Directions Q. 71 and 72.

71.

A wooden cube is painted red on the opposite two surfaces, green on the other
two opposite surfaces and blue on the remaining opposite surfaces. The wooden
block is cut on all the faces thrice at equal distance. Then

How many cubes have only two colours red and blue?
1 8 ) 12
3) 10 4) 4

SPACE FOR ROUGH WORK
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A Wil 68.
()
ﬁ ﬁ ﬁ @ 4“'\.
SNV ZA VRN
(1) () 3) “4)
?c‘,gb/?/f:’/,}g//c;.,/lgu{b‘_}/:ﬁf/?&G‘)’)lw‘ufu;’fu’ U 1 uﬁj‘i})?d{//’ 69.
J212 (2) Je 11 (1)
U2 8 (4) U210 (3)
c,;/».,gfﬁ,/ﬁ/;wufg_q;dﬁ, cg/».{l/u;/g/fu’% uf,U’ d]d{ﬁ 70.

S LU Tl U7 M sl Q A 7Ll sl U AU U
A (2) O (1)
Y (4) X (3)

tecsd L 72 0 71 A

e oIS e UEE LTI A IO Sl P U AL $F
T P B I R

¢ U AL & e T
12 (2) 8 (1)
4 (4) 10 (3)
Ll Lo
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72. How many cubes have only one face painted?
(1) 36 ) 12
3) 24 4 30

Directions Q. 73 to 75.

Observe the following pyramid of numbers and choose the correct alternative that

will replace the question mark in the questions that follow.

15
27 22
19 34 17
25 12 31 33
28 32 37 26 21
14 18 23 39 13 36
20 38 29 16 35 24 30

73. 25321237 : 33263137 : : 38182923 : ?
(1) 24133916 (2) 24133539
(3) 30362413 (4) 39351324

74. 28, 20, 38, 32, 37, 29, 16, 26, ?, ?
(1) 13, 35 2) 35, 21
(3) 24, 30 4) 21,35

75.  Choose two correct alternatives for the following question.
271912 : 311722 : : 281438 : ?
(1) 322329 (2) 243621
(3) 292332 (4) 373916

SPACE FOR ROUGH WORK
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oL sl AL e i T,

12 (2) 36 (1)
30 (4) 24 (3)
D L 75673 A
KJ@@ZM.Q&Lutﬁ.gly/mC}'@/.,g}Jrts»Lmu,u/@wKmtéguﬁuy
"}/’/‘TJL‘;"
15
27 2

19 34 17
25 12 31 33
28 32 37 26 21
14 18 23 39 13 36
20 38 29 16 35 24 30
25321237 : 33263137 :: 38182923 :2 73,
24133539 (2) 24133916 (1)

39351324 (4) 30362413 (3)

28, 20, 38, 32, 37, 29, 16, 26, 2, 2 74.
35,21 (2) 13, 35 (1)
21, 35 (4) 24, 30 (3)

(S e I T el G B Sl TS,

271912 : 311722 :: 281438 : ?

243621 (2) 322329 (1)
373916 (4) 292332 (3)
Ll Lo
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